llodn. u dama

WHe. Ne dybn.

jo

Bsam. uHs.

lodn. u dama

Whe. Ne nodn

+50V KT503
mv +PWR
=l
+3V_HOT /ﬁ VT504
R522
KT504 10K
R500
1k @
: R624
VT500 R509 100k~ 4 1
100k KT506 T2
KT500 VT501
R502 —
? 10K Ak v
500 VD500 A 25, EN_PWR
R501 S 55c4v7 — =
10k
10u
€503 R507
- 10 10k
KT501 KT505 v
mv R519 (0]
10k
D501
8 /cclhermolA0 7
3 6
T A1
BAT54S ScL 2| ME
\y__ y1/ DIS_HOT1 SDA :_wob o
VD502 DS1631AU
v
L500 R515 5@%
= +3V_HOT
+50V : : YTV : A5k 1 SOV TTY
C501 €502 €504 R516
[5k ] C506 | C507
VD501
0.1 10
55c4v7 /N ! !
v
TUXKM.687252.004 33
Usm | [lucm Ne dokym Moodn. [Hama m

®opmam A3




